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1. FZEEFEHINA
28 - ASEINA 103,600,000 0 13,384,000] A 13,384,000 107,108,000
A = £ 1,260,000 1,236,000
NE3=ES 93,000,000 13,384,000 A 13,384,000 94,504,000
EBRER 2,400,000 2,900,000
AT HhILRE 4,500,000 4,574,000
EUE::9%:5 i Ea 2,440,000 3,894,000
EERA 36,332,000] 325,000,000 147,970,000 0 550,268,607
FRWAITEENA 5,100,000 11,550,355
HPLESZEWNA 864,000 864,000
REE - EMESZENA 27,120,000 31,000,000
FE AN EEE 2 INA 2,348,000 2,498,000
HEtYI 3 VEFENA 900,000 0
FERBMERXNA 325,000,000 343,295,599
HAERBIEINA 0 147,970,000 161,060,653
LEH S DEARINA 1,000,000 0 0 A 1,000,000 0
—MRRETN L DEAE 0 0 0 0 0
FMERH D DAL 1,000,000 0 0 A 1,000,000
T 4 £ 0 0 0 0 0
¥ O A 900,000 0 0 1,038,934
HETBNASE (A) 141,832,0001 325,000,000 161,354,000 A 14,384,000 658,415,541
2. BEEHXIH
2 X = 83,627,000] 324,000,000 16,369,000 535,853,646
FRHEEE 15,800,000 26,946,335
EREMESEEE 324,000,000 314,211,664
HP{ERE 1,250,000 1,251,777
SEEHVATLERE 1,600,000 1,679,210
A RFEEEE 14,719,000 162,793,483
XEIATAANVESZERE 1,650,000 849,661
REZEREEE 29,750,000 16,373,543
REE - EMESXE 22,164,000 13,140,072
J-PCIERBZEREE 5,000,000 4,374,000
CVIT-QALY# I E=EE 1,500,000 -
RERKAMTIEREERE 5,363,000 3,275,327
BBt VIV EEER 1,200,000 1,068,574
T B B 89,710,000 8,037,600 82,128,784
= & B - 2,570,000 1,630,666
EZEEEE 300,000 - -
B F B 3,000,000 475,000 3,596,267
B R E 800,000 555,000 981,254
XHEEE 5,500,000 3,291,600 8,722,698
#F o= B 900,000 0 900,000
EBERERE 66,210,000 1,146,000 49,167,499
H & B 5,000,000 - 6,606,500
b N 5 8,000,000 - 10,523,900
KENORRHSIH 13,384,000 1,000,000 A 14,384,000
—MRRETNDIEHE - 1,000,000 A 1,000,000
XEREFTNDIEHE 13,384,000 - A 13,384,000
¥ 5 B 0 0 0 0 0
HEEBHIHAF (B) 186,621,0001 325,000,000 24,406,600( A 14,384,000 617,982,430
HETBINKERE (C)=(A)-(B) | A 44,789,000 0 136,947,400 0 40,433,111
I #HEFFHUNZDOE
BEFEENADEB
ERR A S IR A 0 - - - -
FHEAEERINA 50,000,000 - - - -
BEEESHNAE (D) 50,000,000 0 0 0
BREFHHOER
REAFESBRAIH 0 - - - 30,009,963
[E & & FE#E A 0 - - -
| BEIHTHES (E) 0 - 0 0 30,009,963
REFHNZ=E(F)=(D)-(E) 50,000,000 0 0 A 30,009,963
UHINEZE (G)=(C)+(F) 5,211,000 136,947,400 0 10,423,148
B =R (H) 56,475,307 138,923,647 0 198,660,096
RE BN ZTE( | )=(G)+(H) 61,686,307 275,871,047 0 209,083,244




